T ED S B A Kt RIS EE R R
£ rEAA|EFR 31E 3 28| |ExEAB|FE/K 31E 38 228
#H=X 1 £ R B BIHBEERE 155 B |5 5 B S|EERETRE 153 &

THxKEE
1 ——3

. 0 250 500 m..
125000 ——

-COHEIE, E i ERBERAT O {E #1K25000 (i B E )
BHLELDOTHS, (RRES F2oEE. F395)
BARAERZRODEHIRUERMORE

X 3 FE F|I-141

X & 0 &% FH[{IAKSI5
K B 0O fF 7f th|saexesmrATE-OAORETE

TR

ik
i

X

TR K ERRIE R X -

=
Eﬁﬁs w N
’ A I KETHES B GISER MK T —2 (ER28F/ER) EEALIERLIADTHS, | 1:2,500

N NN NNV 0 A\

T

O CHORERIE. ZHEREREICLHIMMBEIC, RAICLIRERHERZLIZLDTHY ., —BELGO>TRADGENHYES .
FHLE EREHAFICE RIS,



T EERRXIGFREX (FILYVEITR)

BER ,$T'FJ1[I]7I</\TE 1[I]7|<0)EEETE




THREFERREFHER

Bl 41 _ [ SE%RE F F304 2 28 H
ETES | I-1411 | BT | fiR_35 | FrfEH [BEEREHMAARTEH-MAOERTH
A — : A \ AN !l N ~ ~ o~ ~.

/[

/ g S~ / 4 7
- ] L

AEFKETHERGISER MR T —5 (28 FER) EEALERLI-LDTHS,

~

~ 7 7 ] NI
I8 / \/\ i

\f\\\\ //

8

31

P B ’ - \ ’ a
T 2 | |
—— RS
TERT B /
: —-— - B
: BEI-LDA \ -
<< bttt =] : 1

{

‘ BRIEZN0 | BEE
48 o 3
TR EERRE BAMEKN/m? m

= BHIZEBNH - -
g 100kN/m?ZHB % DR f; -

TERE
= 5 I R X 3
ZOHORE 853 | 1.0
/ ANA) AN — 7




FR305F 25 28H

L = HX =1 S8 =Ty
T K EFERREFRTER
e T
BES | [1-1411 | B A | A _35 | P [BEERXEHOAATE-WAOERTH
SRR TS ECIS BRI — 5 (A2 ) £ AL AL b0 Cob, | | \\/7 ST A
/ / & L /, R \/
/ Z // b T // // \\’\\ /\\/\ i:\\/
~ S/ 7 4 2
/ S L z )
L\\\\ //' ~_/ — j\/
\ ’/'\\$\:\J
~/ .147.;\ 7
r L
A / :
Qi SR
e ~_ /) T
e - N 9‘/‘;’ ~, / /
W 3 - \//
yr
= /3 — TR
Ut < /<2 TR R
- — - BEAR
Q 11~ A
- TREOHEBEICKL NN
T wmesany, /| EREmm.C )
~ N\ S \ I ! L L Lo !
— 1 P BB ImE
""" +ERE BABR 1
= AR,
"I ZOMORS: 92| 18




